1D pull distribution
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Adet RMS (ppm)
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AdetRaw RMS (ppm)
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asym_bcm_target RMS (ppm)
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1D pull distribution
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asym_usr RMS (ppm)
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asym_usl RMS (ppm)

____

o o
o} ©
T} s}

(wdd) sy

o
~
o

o
©
Lo

550

540

530

JoActad
c¢'lsey
WATA4
[OAsta4
v'95ey
€'96¢y
¢'9sey
T'9gey
0'95¢y
0'ssey
€vacy
cvaey
T'vacy
0'vSey
c'eaey
T'eser
o'esey
€esey
cesey
T'eser
0¢csey
e'Taey
¢'1aey
T'1a9ey
0TSy
Tosey
0'0s¢y
di744
eevey
cevey
T'6vey
o'6vey
c'8vey
T'8vey
o'8vey
€Ly
clvey
T'Lvey
0'Lvey
v'ovey
eovey
covey
Tovey
o'9vey
e'avey
17474
T'Svey
(<1747
v'vvey
evvey
cvvey
T'vvey
0'vvey



~ © ) ) © ) ~ ©
N S = 3 < S
5 3 s ® g 9
= o 3 o S <
+ + <~ A < P -
2 3 g 3 8 .
8 3 s 2 4 N
= 3 —
o 2 ]
: £ 3 5 &
c|l§ ¢ & § 2 z 5 E
c|l¢ &8 5 8 =« & £ & e
= -
=1 —]
o -
= ]
2 ]
© -
= -
o —]
o =
-
PR TR SN N SN SN TN NN SN TN T (N TN TN T NN SR T S N S SR S
m © © < N o
I ——i— -
—_— ] —
N O e ]
o N — —
~ N —eo—4 —
o — o —+
4 —T =
To) ——— —
©o N~ —e—1 —
o —— —
o ——— —
A_. —_——— s apupn
—_— —
—————H —_
—— —— —
i —— .
[ — -
-~ [EEE— \— —t
=] —————— —
Sl=<= —————— -
(ol —_—— —
o ———— —
~ — o+ —
(2] —_— —
> —— —
® — o 1I. Z
o e -
3 _—— —
_ —_—— —
= - e —
S —_— -
7 ————i —
®© —_—— —
r_ —_— —
(o)) — — —
I - —
- —_——— —
[ —
—_— —
—_— —
L —
[ —— —
[ S — —
— — —
—_— —
— —
——— —
——
—_— —
—— —
— — -
L1 ____ ____ L1 __ﬂlﬂﬁr¢lT+#le+4L1__

o

3000
2000
1000
1000
2000

[=}
=}
o
o

R

ANTLHOLN Toown
— e



lagr_asym_us_avg RMS (ppm)
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1D pull distribution
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lagr_asym_usr RMS (ppm)
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lagr_asym_usl RMS (ppm)
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